T B AR e YRR314£03H01H 4

mrxRME B
T B AR T T TG TS
R&EE  JUR HBE @
2R SFEGTHERAE 3 OXFE 2HOBBRICEIY, TROLBVHRELET,
i
e - O B B AR e Ak 2H
a—F s Fitk | PER (kg) &% (M) =i i Lol 7 Hh (BAL)
130300 A 189 54 54 54 | BN akg
Y3015 7 & EE 194 11 11 11| BN 183
31700 F ¥~ 36 432 162 54 54 | BN 44— A
31800 X HNAK 47 11, 151 76 43 38| &MY 2333k
31950 HRE 518 65 65 65 | B 87
31900 42X 756 108 108 76| BN Tkg
34400 k= b 36 9, 893 281 270 270 BN 36kg
34200 @I 10 2,808 281 281 281 | BN 10kg
35220 X A SCHIEL 2 1,296 648 648 648 | /Y 2kg
35300 B— & 6 5, 670 1,080 1,080 972 | B 6kg
35303 RF v TEIAELD 52 2,705 108 54 32| BWN 52kg
Y3026 Aty7  EZAE D (FE) 1 648 540 540 540 | B lkg
| 35402 AXED 10 9,936 1,188 1,188 864 | BN 10kg
| Y3033 | ZMIAL 100 7, 560 108 43 43| BH '100kg
36200 | B#E 20 648 32 32 321 BHN 20kg
36260 |12 L7 520 52, 920 1,080 1,080 756 | B 524 — R
36600 [TmERE 30 5, 508 184 184 184 | BN 30kg
36600 mERE 14 3,758 65 59 44| BN 701
33300 T my Y — 42 4,768 216 54 54 | BN 42kg
36340 & LNz HE 20 2,333 173 76 76| BN 20kg
41806 7= AMNA 270 39, 204 594 389 324 | BN 90% v k
| 46108 | DT DONE 48 64, 757 432 432 356 | BN 160/ 27
21011 | A7 L —% 23, 544 49 49 16 | &M 6504
71070 7V =7 5,616 11 5 31BN 1, 0404
71150 LiE 324 32 32 32| B 105
53456 7 H 7l 3 927 281 281 281 | B 3kg
Y5010 obs& (#) 18 7,038 432 389 356 | BN 18kg
30200 25 2L 6 173 11 11 11| R 164
30300 A% L 130 15,120 1,296 1, 080 1,080 |FEIRE 1347 — &
30300 A% B 130 3,726 540 162 162 |FE IR B 1348
31100 H3E M 525 4, 082 324 108 97 | BIRE 35— A
31200 L 4 432 22 22 22 |BIR S 2048
33500 Y7 HHK L 1 65 5 5 5| %@ @ 124%
33810 FHHR 7 1,166 32 32 2 IR 3648
37440 b 2 896 896 896 896 | FE IR 1r—2
Y5005 &KEAN 5 1, 566 1, 566 1,566 . 1,566 K4y 1r—=
32600 EH 8 756 22 22 16 | t& 4048
31700 F ¥ Y 160 3, 402 270 216 162 |FEIR B 164 — A
31950 MARE 30 5,994 648 594 540 | FEVR B 104 — 2
31930 ZhX 923 32 12 12| R4 6048
32800 125 12,700 54 54 54 | 'E I 503
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R4 HE o Boufmes &H
a— K P Bk | BERR (kg) &% (M) = dE ZelE | PE b (HAL)
34300 72 15 3, 888 1,620 1, 620 1,080 [REA 34—
34400 | b= b L 20 3,780 756 756 756 | EA 54— &
34400 | k=< b M 12 5,832 1, 944 1, 944 1,944 |HE 3 —A
34460 1= F & M 7 6, 998 216 216 151 |BEIR B 36/ 7
Y3058 HE b= b 3 864 864 864 864 |HEA 17 —2
34100 | #/I L 15 5,832 1,944 1,944 1,944 | REIR B 34—
34100 |#AL M 40 11, 232 1, 404 1, 404 1, 404 | =i C 8 —
34200 /I 20 2,160 140 76 76| =2—Y— 20kg

AN
34500 E—= L 6 4, 860 81 81 81| =Ry 6048
34520 R —= A L 4 7, 560 3,780 3,780 3,780 |[FEEIR B 24— R

34571 (X7 UH GR) 2 2, 646 205 205 119 | 4% [E 15{&
34572 T U A () 1 648 130 130 130 |8&[F 5{H
36600 |[7mEnE 60 11, 880 4,320 4, 320 3,240 | kiEE 34—
37200 L x 98 2L 8 2,160 1,080 1,080 1,080 | [E 22—
33400 L& % 12 1,814 76 76 76 | F W% 2418
33420 U —rU—TLHX L 3 162 11 11 11 | %& 15fH
32900 B Y — 1 119 119 119 119 | 43 BES
33600 |/t Y 1 162 32 32 32 | #& [ 54%
38100 | ALz 14 7,992 59 59 54 | = IR 1408 7
31310 | AT 8 929 54 11 11 |#=58 404%
731500 A% 4 1,728 1,728 1,728 1, 728 | ¥& [ 1r—=
31500 |/MAZE 18 3, 888 54 38 38 | 15 i 19048
32500  AiE 2 1, 166 54 54 22 | $& [ 245
37560 | BBIE 1 1, 350 162 162 108 | K45 1078y 7
38400 (ZDEH 5 2, 160 2,160 2,160 2,160 | EIRE 17— %
38521 [ SR LDHLE 6 7, 452 124 124 124 | #& [ 6043
49100 XFF 180 21, 816 1,944 1, 404 1,296 | 7 4 UL 154 —2R

aat 2,790 427,180




